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General English
Section Id : 264490587
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449017819 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449017820 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449017821 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449017822 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449017823 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449017824 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides
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s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449017825 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449017826 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449017827 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449017828 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449017829 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449017830 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449017831 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449017832 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed

8/103



7/14/22, 4:27 PM

3 had departed

, » have departed

Question Number : 14 Question Id : 26449017833 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449017834 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed
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have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449017835 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449017836 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449017837 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449017838 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449017839 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449017840 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449017841 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449017842 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449017843 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449017844 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490588
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449017845 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
PBETIS & Blarid oD ITASS Horr SARTNG?
Options :
March 6
S0, 6

January 14
S8R0, 14

September 8
3 % PROR%, 8

November 11
om0, 11
vy
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Question Number : 27 Question Id : 26449017846 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a
20655¢5 038
Options :

Network
| % w5 JEIG)

Network of Networks
RTS8 ) G008, B8,
(=g (-2 T

Software
2.8 %Q‘EEE

Server
.8 J[58
[« 5

Question Number : 28 Question Id : 26449017847 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’'s capital shifted from Calcutta to Delhi?
PBETIH Toaerd & JoIE)808® Sosmriod D8 IS pkoh?

Options :
| % 1935

17/103



7/14/22, 4:27 PM

5 % 1900

L, 1911

4 % 1929

Question Number : 29 Question Id : 26449017848 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MOOC stands for
MOOC &30 628 Sodn8rsSo

Options :
Mobile Open and Online Course

m@ﬁ '!r.‘ua.r5 E:'_--Ow EWHN?E

1. %
Massive Open Online Course
TS A8 olBS 5

2.
Media-based Open Online Course
H&ce TD LT «F88 5°5

3. % - .
Machine-based Open Online Course
DT BJ T @ 5°5

4, %
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Question Number : 30 Question Id : 26449017849 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo's abdominal pouch is known as

Sorrdh 20y ToE) Soderod i’mg P SRS Ter Beid
Options :
Placenta Pouch
RRoEF Jod

Guttural Pouch
, w HeEdS Jod

Marsupium
3 @ ENvlerSvulevsla)
Synovial Membrane
L% RTINS TS

Question Number : 31 Question Id : 26449017850 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.

<2 o i R e A ] 3 = g T i
8.000. 3-JEH $owododd el TR wa 8D TRG 12 Dok Q) TID
o

Dotndol

Options :
120
1. %
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, » 200

140

3. %

L« 150

Question Number : 32 Question Id : 26449017851 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of
S0orPond® oY SweTto 5 Ty RoEndon?
Options :
King George
v caeiniEle)

Lord Mountbatten
@vg_ ST08) el

Queen Elizabeth
SDEDE oo

Lord Macaulay
=8 Z=T

Question Number : 33 Question Id : 26449017852 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book “Origin of Species’ was authored by
"l ef W nRR” (ol 8.
Options :
Charles Dickens
=8R G38)

Charles Darwin
T8N oS

Charles Babbage
0% ePIE
3. &

Charles Lamb
4 % P8R P08

Question Number : 34 Question Id : 26449017853 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
EENE $I6° &S wolfYS 5DN0DE 3PO8-19 & oo8ngrEId 388 -

Options :
SARS-CoV-2
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SARS-Covid19-2

2. ®

Cov-SARS-1
3. %

SARS-Covi-D2

4, %

Question Number : 35 Question Id : 26449017854 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927
1992¢° £28 ey POFBore @8 TEPY) FoLITEH?
Options :
Dadasaheb Phalke
| g TR e 8,
Satyajit Ray
, v P88

Aparna Sen

ol RS
3. kS (=

Rituparno Ghosh

. » Be0sst) 558
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Question Number : 36 Question Id : 26449017855 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
SoltS 2022 0B aY) Sorrep R DEI.
Options :

w1

Question Number : 37 Question Id : 26449017856 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is considered the inventor of World Wide Web (www)?
98¢ 28 2T (www) ZRBEMP 588 18R 0?7
Options :
Tim Berners-Lee

LSO e
v 85 35)5) O

Bill Gates
ﬁﬁﬁeﬁﬁ:

Larry Page
o= Tied
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Jimmy Wales
20 IS
-3

Tl

4, #

Question Number : 38 Question Id : 26449017857 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
ol F& &I Sio LIS Jowosool.
Options :
Lawn Tennis

- oy
e E3NE
[

1. ¢

Billiards
&Dmgz,

Chess
witono

Basket Ball

co )l Sl

Question Number : 39 Question Id : 26449017858 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The Sardar Sarovar Dam is a terminal dam built on the river
& J0PS Vopb IS8 oy Aosndod.
Options :
Sutlej

&8s
.

Ganga
Hore

Narmada
eét‘ﬁécﬁ

Brahmaputra
@IRE

Question Number : 40 Question Id : 26449017859 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 2022'7
‘BT 2022’ @) (Berarodo HE?
Options :

Covid and Planet

| x 508 S0a» (o
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No to Pollution
5 % SPendp BRSO
Sustainable Living

I o :
S850858 &0
-t L.

Invest in our Planet
0% (oS Depnd

4.

Teaching Aptitude
Section Id : 264490589
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449017860 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a

ISP @olod ol 818 10 - &IV DL,
|+, et

Options :
supportive classroom climate
L@ SONENG srErRterld L—’AZ‘}; DEE
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good learning environment
) % S00of) BTV OLCDTER
activity-based classroom
;3 % SPURU0R orrld S0E RO

joyful learning experiences

B5080MP TENDoLNTNN LT
4. % = S

Question Number : 42 Question Id : 26449017861 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the

school is

FEosD ol BEPERoN & &wﬁa&é Roz0Hols Doy HanReD E58 52

TR 3E8 wirgroned® 59 *om%‘ss’:um?&n & DB B3 IBAT o

(2% [=8 e =
Options :
Upward Communication

B o

&wééw B0 B3 Eots)

Downward Communication

éﬁ:éé&ﬁ g0 &JS"’E

Horizontal Communication

™ &atﬁmﬂc BoG aa‘mn”ﬁsﬁi
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Grapevine Communication

05328 55 058T
4. % .

Question Number : 43 Question Id : 26449017862 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
EQmoe &8 58 Emn;tiéa:éé 08D ©ESn PolS BEPTRIEN’ ©AROHBoERED.
Options :
awarding good marks
008 Artnen vato Toe

handling special classes
(BFEDS S8HSeD THLko T

2. % o = £ -

helping them solve their problems

v DTS DRVRORD ”‘“‘*uc:uct-,'ocﬁ‘“ RFCnRGEL0 TPTE

3. ¥ &

giving learning materials

oRrds Yonofoli &Rl santo roe

Question Number : 44 Question Id : 26449017863 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The best way to maintain discipline in the class is to deal with the studentis
DTSHen oD (EDHE5nS somreod wirgruing 08 PILoTDRD wEd
v}

Jrgo -
Options :
affectionately
L% BERICDHOTP BOKL0
strictly and friendly
PLBOMPIR O ) IFIPOSOMPIF Roto

L=

strictly and authoritatively
PN Sorrar oldn ©LPLE0TIr Bolio

politely, but firmly

v SNTUTL, cﬁ;gﬁom;&r EriE aolito
4.

Question Number : 45 Question Id : 26449017864 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
SEIE° es0eS wodo -
Options :
Teacher's Knowledge in the subject

ety ﬁ;{:ﬁxa} DB0H é@@éo
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Teacher-Student Relationship
DERERIOIN0E $m5g§ sotrie Somogo
2. ¢ '

Teaching Techniques

. G568 edwoos Beieben
3.

Technological Aids for Teaching
US55 D@ rN0D oS HESTReD
4. %

Question Number : 46 Question Id : 26449017865 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by
RDNTH0STI SBHBM0 TEesery) Jptodl -
t &
Options :
lively student-teacher interactions
Dren - SRS 08 I8 B0 B0l SIFEESETN S8
1. \‘.? L= - = 5] ™y s -
advanced technological gadgets
, % OOTSIPN FOTBE HoZToen

pin-drop silence in the class
SEBHLEY Ve ;eSS0

1=

3. %
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high-cost infrastructure

, €8 ST STOS Jhardiren
4.

Question Number : 47 Question Id : 26449017866 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should

JEPT B BITHOND B wd wIrTE IR TTYH0E T8 -

&,

Options :
control the class effectively
SENBIAR HhgHodorr & OHHS® sonsTd.

correct the test papers and assignments strictly
&mﬁ"fﬁ,& 22aee S(FPe SEJOMP uPerRoSto Slovvil 3]

handle the classes humorously

. ausnsnad r“'ﬁp:" CdEorr LEiroTd.
3. >

motivate the students to learn

L “‘mﬁ*rie:““ "50\5’&*‘-' (0D0d.

Question Number : 48 Question Id : 26449017867 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

31/103



7/14/22, 4:27 PM

The primary purpose of punishing a student is to

DO 8Zottos® (ZrEE vido DHeod

Options :

Question Number : 49 Question Id : 26449017868 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
Foodo DD/CHP DTBoen B8R 5306EE FPonIHE BEGoMEs Do BATD?

show the teacher’'s authority
BEPEROine) 85 efseoed) (@ Sjlelalate

correct the offender

- -
Q8 Lgrao EOAS &

o
5
A
o
o

[:lak
&9
(N

threaten the other students
T Te! a:ﬂaﬁguzﬁa BAoooSEREd

enforce discipline in the class
SERBROE° B85 wiben Dabeeds

Options :

1. %

make his or her teaching more interesting
o008 ©ld S8orr T3S TARD

32/103



7/14/22, 4:27 PM

teach with real life examples
FEDE £2805%9 srrdrbnw D

attempt to find out the reason for lack of interest
DTS 8t TIPS oo HEoTD
b

teach with stories and songs

, » 580 oroe, Soonroe 55655 Do

Question Number : 50 Question Id : 26449017869 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from
a8 BEPTInd DRErEY) dov SPLomrd, TRES® Jor HHFloTD OF &g
Do HE Hod FENB B
Options :

Students

T e, i E
Slepyevltalal
o)

1.¢

Fellow Teachers
D3 BErEoine ol

Senior Teachers
SHS GarPEEdine ot
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Principals

L % @gﬁ:@% 00d)

Mathematics

Section Id : 264490590
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 51 Question Id : 26449017870 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

f:
The solution of 1‘%2 y (logy —logx + 1) is

i
dv :
1‘?1: v (logy —logx + 1) Gw¥) TS -
dx
Options :
V=X
1.
log v = cx
2. ¢
c
P==—
3. % X
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log v =logcx

Question Number : 52 Question Id : 26449017871 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

TE

The solution of ydx-xdy = 3x?%e’

ydx-xdy = 3x2e*"y2dx @8 FGS

yidx is

Options :

2
X=ye* +cy
1.«

2
y=ye® +cx
— _J(.'z

y=Xe" +cx

2
xy=ce* +cx

Question Number : 53 Question Id : 26449017872 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The integrating factor of xj—i + 2y —x%logx = 0
x 2+ 2y — x?logx = 0 G¥) BErEeS rHessn
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Options :
X2
1.v
1
x?
2. %
3
x
3. %
2
4, % *

Question Number : 54 Question Id : 26449017873 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The singular solution of v = Px + (a/p) is
— Ly R

Options :

y=x
1. ®

pE=ox
2. %

vZ = dax
3.9
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V= 20X
4, %

Question Number : 55 Question Id : 26449017874 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following equation is not in Clairaut’s form?
8ol $n58red® wid Tl Srhod® . o 207
Options :
y=px+p-—p?

1. %

(1 —x2y?)dx = ydx + xdy
2.9

p—y)=p?-1

SINPXCOSY = COSpXSIiny + p
4, %

Question Number : 56 Question Id : 26449017875 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of p=log(px-y) where p% 18

p=log(px-y) ©wond p=j—‘: 5 GRS PO

Options :
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Vo= eX-8"
1. %
v =cx®—e°
2. %
V=g 8
3. ¢
il 2 c
¥ =.CX" +€
4. %

Question Number : 57 Question Id : 26449017876 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The solution of (D? + 1)y = 0'is

(D% + 1)y = 0 530 FBoSos
Options :

Acosx + Bsinx
1. v

e*(Acosx + Bsinx)

(A; + A;)cosx + (A3 + A,)sinx
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(A; + A;)cosx + (A; + A x)sinx

Question Number : S8 Question Id : 26449017877 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The differential equation x(1 + y*)dx + y(1 + x)dy = 0 is

x(1 4+ y¥)dx + y(1 + x)dy = 0 o3 ©5505 S58msw
Options :
Homogeneous equation
RRFFHIW
1. %
Linear equation
) Bah S
2. %
Bernouli equation
BEHND 3o
(=9
3. %
Exact equation
aHTes “&on
&
4. &

Question Number : 59 Question Id : 26449017878 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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: d3x d?x dx g
The complementary function on of —3-2—5-3——-=¢e"1s

3 2
G _ 28X 3% _ X Fk) 88 (Habcho
dt3 dt2 dt ' <G =

Options :

cit+cp et +caet

1. ¢

c1tco e®t+cs et
2. %

cret+tco e 4oz et

3. %

c1tco e Zt+es et

4. %

Question Number : 60 Question Id : 26449017879 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The particular integral of (D* — 2D +5)y =e " is
(D —2D +5)y = e™* Q¥ [B8E SSrseIHD

Options :
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—e
4
2. %
L.
—e
8
3. %
_E.'l.
4
4. %

Question Number : 61 Question Id : 26449017880 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The two linearly independent solutions of (D? — 3D + 2)y = sine™™ are
(D? — 3D + 2)y = sine™ GwE) Totd I8¢ Irdo(@ Boapren -

Options :

1. %

1, =2 .1,=1¢
2. ®

V=
3. ¢
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Question Number : 62 Question Id : 26449017881 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The particular integral of (D® —D? — D + 1)y = 1+x?% is

(D —D% — D + 1)y = 1+x% Go%), (B85 JSeoe5ed

Options :

=L 2x 5
1. ¥

x2 —2x+5
2. %

24+ 3x+4
3. %

x2 —Ix—5
4. %

Question Number : 63 Question Id : 26449017882 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The homogenous differential equation M (x, v)dx + N(x, y)dy = 0 can be reduced to a
Differential equation in which the variables are separated by the substitution
Berdah od50s $E8mo M(x, y)dx + N(x,y)dy = 0 38ched [Hoesmcho oo

FBDH2ES wites SNBSS & Dore SNoHNDER.

Options :

Y =V¥x
1. ¢

Xxy=v
2. %

x+y=1
3. %

X—y=v
4, ®

Question Number : 64 Question Id : 26449017883 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The intercept on the x-axis of the plane x+v+z=1is
x+yrz=1 D G x ©Fo DY) LoSBPOLID

Options :
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. 4

1. %
3

2. %
2

3. %
1

4. ¢

Question Number : 65 Question Id : 26449017884 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Angle between the planes x+y+-=land x—yv=2is

b

SRl 5°90 x+y+z=1000W y—y=2 @D -

Options :

., 0
1. ®

o | =

| A
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T
4

Question Number : 66 Question Id : 26449017885 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the plane passing through the point (-2.-2.2) and containing the line joining
the points (1.1.1)and (1.-1.2}is
(-2.-2.2) DotHyroome TLHHT) DT T DwEGe0 HOK® (L11), o (1.-1.2)

Dothyess 50 D Deid D0 @oenod?

Options :

X+2y-3z+4=0

1. %
3x—4y+1=0
2.%
o Sx+2v-3z-17=0
3. % '
x—3y—-6z+8=0
4. &

Question Number : 67 Question Id : 26449017886 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The equation of the plane through the points (1,-2,4) and (3,-4,5) and parallel
to X axis 1s

(1,-2,4) o8ci & (3,-4,5) o3 DooHe o B&r 8 x ozlE Sdroslorr
BoG Sosn S ESmE®

Options :

v+2z=6
1.¢

v-2z=6

2yv+z=6

v+2z=6

Question Number : 68 Question Id : 26449017887 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two planes represented by ax” + by® +¢z” + 2 fiz + 2gzx + 2hxy = 0 will be perpendicular if

ax® +by? + ez’ + 2 fiz + 2gzx+ 2hxy = 0 ooe KrDowndS Both Ten wonorr wol -
Options :
a+b+ec=10
1.¢
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abc =0
2. #

ab+bc+ca=0
3. %

a+b+ec=1
4. %

Question Number : 69 Question Id : 26449017888 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the plane passing through the intersection of the planes

x+2y+3z=4, 2x+yv-z+5=0 and perpendicular to the plane 6z+5x+3v+8=0 is

x+2y+3z=4, Ox+y-z+5=0 oF dere JHI5 oo PEr 6z+5x+3y+8=0
v Serd8 vonorr sok S SHH5sman

Options :

31x-15y+30z+173=0

1. ®

21x-13y-30z+173=0
2.¢

51x-15v-502z-173=0
3. ®
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None
4, %

Question Number : 70 Question Id : 26449017889 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

.o k¥l ¥=1. =2 -
The angle between the line . == F and the plane 2x-y-3z-4=0is
e X+l _y=1 z-2 . . == ; z
Eg_} % = — = DB ol 21’—I1'—31—4=D@’53:'¢5 S°to -
Options :
c::}a"l: =4 ]
| /406 |
1. %
oot =4
SN | ——
| /406
2. ¢
30
3. %
60°
4. %
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Question Number : 71 Question Id : 26449017890 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The distance of the point (1,-2,3) from the plane x-y+z=5 measured parallel to the

line where they are proportional to 2,3,-6 1s

2,3,-6 BE Jogyen e D SSrossSorr dotwr (1,-2,3) o3 Doths How

PGH B S0 x-y+z=5 S8 He Sr85w

Options :
1

Question Number : 72 Question Id : 26449017891 Display Question Number
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The lines
-
I 2

: Yes Is Question Mandatory : No Calculator : None
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Options :
parallel
L SEverielzlelolay
intersecting
widstorr
2. % e
skew
3 % SSore
coincident
G e, T
L% a3 quxc-ﬁﬂ

Question Number : 73 Question Id : 26449017892 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

: ; yr—1 yv—-2 =zZ-3 y—2 yv—=4 =5
The shortest distance between the line = = and e — is
2 3 4 3 4 4
-1 v—-2 -3 _ . Xx=2 y—4 =z-5 - —
=: = s0Caiw = = &t Dol Buedny edrod
2 3 4 3 4 4 o -
Cﬁrr‘jé Ordo -
Options :
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Question Number : 74 Question Id : 26449017893 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following equation does not represent sphere

& (Bo8 &S DO et Srdosh

Options :

[ x Py —6x+8y—10z+1=0
- 4 yi+zi+6x—4y+2z4+14=0
™ 4+ yi+z24+4x—2v+8z2+25=0
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ey g 2y — a2 =0
4. %

Question Number : 75 Question Id : 26449017894 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The two spheres x* + y? +z?=25 and x* + y* + z> — 24x — 40y + 225 = 0 are __

X2+ y2 4 22=25 S0 x2 +y? + 27 — 24x — 40y + 225 = 0 ©F PgE
Options :

Touches internally

| % ©osadol @B&-oﬁﬁafco&:‘m

Touches externally
arssrore Q)BothdHhodron

2.¥

Intersection two points

3 x 00t DothPed® polohs e

Do not intersect

4 % DOROWED

Question Number : 76 Question Id : 26449017895 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The plane 2x—2y+z+12 =0 touches the sphere x*+ v + > —2x—4y+22-3 =0 at the point

@8 2x-2y+z+12=0, ¥+ +2-2x—4y+2:-3=0 TPl S Do

G0 mssEol.
Options :
1 ® {1,'4,‘2}
2. o {_1:41_2}
3. ® {_11_4:l)
4 8 {1I4F_2:|

Question Number : 77 Question Id : 26449017896 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

2

The point of contact of the spheres x* + V' + 22 +2x -4y —4z-7=0,
X4y 44 2x-4y-162+65=0is

% +.1'": Fg b 2x—4y—-4--7=0,

X437+ 2P 420 -4y —162+ 65 =0 IPere J038) n:.‘.g}éc

Options :

1,2,6
o, 126
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2. k= {1!24_6)
3 % {11_216:]

{_11216}
4, ¢

Question Number : 78 Question Id : 26449017897 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The pole of the plane x-y+2z-9=0 with respect to the
sphere x2+y2 422 —-9=0 1is
X2 +y? 4+ 2% — 9 = 003 ¥ s x-y+22-9=0 Sokn @og) §)Hsm

Options :
(1,2,3)
1. %
) % [233_]-]
12.1.2)
3. %
(1,-1,2)
4. &

Question Number : 79 Question Id : 26449017898 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If two spheres of radius 1; and r, cut orthogonally, then the radius of the common circle is

; Eo0ain 7, TRPG0 GWE) Do Feren T PIST S800RIYONB, ©Hpd Ferde
S0 @os) IR0 -

= B Rl

Options :

1. ® B
2. ®
hlaall” +1
3. %
i
D
.i'l -l—Fj
4.

Question Number : 80 Question Id : 26449017899 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The angle of intersection of the spheres x* + 1" +z* —=2x—4y—62+10=0and

2

2 2 = .
X +y 42 —6x-29+2242=015

-

342t 25— Ay—6z+10=0 DO P+ +—6x-2y+2z+2=0

i

ffere wols Swmo -
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Options :
2
1. %
cost| = |
.3
2.¢
T
cos | = |
\3)
3. %
T
3
4. %

Question Number : 81 Question Id : 26449017900 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The vertex of the cone x> — 2y? 4+ 3z% —4xy + 5yz —6zx +8x — 19y —2z—20=0is

X2 —2y% 4322 —4xy +5yz — 6zx +8x — 19y — 2z — 20 = 0 &3 Jogw) @0E %dqa’noa

Options :
|1,-2.3)
1. ¢
{1.2.58)
2. %
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[132}_3}

4 8 [_]--2:'3}

Question Number : 82 Question Id : 26449017901 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The locus of the lines through the vertex of a cone normal to the tangent planes is called
¢roZod] Lo Frrbods % 528 Svwricy] ,&50 oS08y :‘ﬂmc B0enod.
Options :
right circular cone

| x D8 YHTTE BT

enveloping cone

©5008 588

2. %
reciprocal cone
SO 855
3.¢ i
quadratic cone
iiéadga% 55
4. %
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Question Number : 83 Question Id : 26449017902 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Equation to the right circular cone whose vertex is at origin the axis along x-axis and semi-vertical
angle is

08 Hzeees 58 $Etwo, L 480 Sreo x ©Fp, Do L vonFec yedl -

Options :
2 2 2
Y +y =Itana
1. %
V+z=x'tan’ &
2. %
2 2
v tan” @
3. %
7
X 1anco
4,

Question Number : 84 Question Id : 26449017903 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f=(13256) (23) (46512) is a permutation then the order of f is
If f=(13256) (23) (46512) [Har85n vons f &) H58eee0
Options :

S
1. ®
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2.v ©
4

3. %

4 % 12

Question Number : 85 Question Id : 26449017904 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f=(2 3 6), g=(1 4 6) then gf=

Options :
(1423 6)
1. #
1436 2
2. %
(41236
3.
(1462 3)

Question Number : 86 Question Id : 26449017905 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the group {Z, — {0}, ®}, the inverse of the element 5 is
{Z, — {0}, 0} Jrsrod® SresSo 5 @nE) HE%Ho -
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Options :

|.& 3

Question Number : 87 Question Id : 26449017906 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The orderof 3in (Z,+) is
(Z,+) &° 3 @) B

Options :

Infinite

4 970630

Question Number : 88 Question Id : 26449017907 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The number of automorphism of a cyclic group of order n is

@38 n @D IIE SSrSo 58 ufirt xow o -
= - = =] @ e
Options :

1% N

@p(n)

Question Number : 89 Question Id : 26449017908 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a Boolean ring?

8ol T&S® arDcHS Soh a&?
Options :

1. ® (Rr+1]

(Z,+,.)
2. &

3 % I

L (p(s),+,.)
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Question Number : 90 Question Id : 26449017909 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The binary operations in N are

N &*2 B30 H08chen -

Options :
1. % T
vt

I e
3. %
4, ® J

Question Number : 91 Question Id : 26449017910 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not a semi group?
808 786° 2D (TP =082

Options :

1.v
)
2.
Lk B
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L x @D

Question Number : 92 Question Id : 26449017911 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let H, K be subgroup of a group G, then
H,K en 2.8 Saomao G {ﬁwﬂé B2 DEDIPEFoeD GONNIPID
Options :

H UK is asubgroupof G

HUK 030 G &5 asdsarso
1 ® L

H N K isasubgroup of G
HNK o308 G@0g) addsero

H x K isasubgroup of
HXK o306 G &%) eddrsro
3. %

HK is a subgroup of &

, » HK €30 G &) a88&arso

Question Number : 93 Question Id : 26449017912 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is false
& 800 TEHS® D& IS
Options :
Everv abelian group is cyclic

| o 58 DHD0HT $Srsn o8 Sidohiw

Every sub group of a cyclic group is cyclic
5 % X8 a830rHE5n e30 SBahs

Every cyvclic gro s abelian

up i
20D HSrSsn o0 NDODS

'T_I'JE:.

3.%L

Every group of prime order is cyclic

58 SSaesEsn [Bn0srn Sidchin

Question Number : 94 Question Id : 26449017913 Display Question Number :

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Every group of prime order is

B8 Jdordro @) (B> w88 -
Options :

Cyclic
aoo

"E.IJ.F.I

3|

1.v

Yes Is Question Mandatory : No Calculator : None
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non-abelian

1Sco ==

Ei

2. %

subgroup

el Saurizo
3. %

normal group

, w ERO JriFEo

Question Number : 95 Question Id : 26449017914 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1 2 3 4 5

The inverse of the permutation (3 ¢ 3 "

(12345

3 1 5 : 3) S 8RB0 B 2o

Options :
N1kl
URLITD
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5
N 1HT
N1t

Question Number : 96 Question Id : 26449017915 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The order of the element 13 in U(14) 1s
U(14) & 13 o3 Sreshie @ns) 8518
Options :

5]
1. %

Question Number : 97 Question Id : 26449017916 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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If His a subgroup of G, m is the distinct right cosets of H in G, n is the number of distinct left
cosets of Hin G, then
H 038 G @nE) ed85rdro oond, m 9386 G 60 H @wg), D) 6 558 Joey.

n o380 G0 H and) 2§ It &5 & Kogy. oHD -

Options :

m=2n
1. %

n=>2m
2. %

m=3n
4. %

Question Number : 98 Question Id : 26449017917 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A homomorphism G — G' is an isomorphism iff the kernel consists of

o8 cﬁ‘ge'?u"“éﬁﬂq}ﬁﬂ G — 6 o3b 8.8 mﬁﬁéwﬁ;,eso TP PO0 ?6&5@* 5D 2okl

Options :
the identity ‘e’ only
. -l

- OCosy ‘e’ drgaw
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a normal subgroup of G
s © D8 &8 el addardo
a factor group of G

; % G G5, =88 Jaordro

guotient group of G

G :ﬁaoé;_ ﬁ:s*;néééﬁusé RanrEo

>

S

4. %

Question Number : 99 Question Id : 26449017918 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An ideal of Z, is
Z, Toos), ©ig)am
Options :

{0,2}

1. &
2. % 0.1}

3. % 103}

4% B
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Question Number : 100 Question Id : 26449017919 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

0 : Z12—Z12 defined by 0(x) = 3x V x € Z12 1s a homomorphism then k(y®) =
0:Z10—Z12 8 0(x) =3xV x € Z12 038 3508758 wond kiyd) =
Options :

1. % 04

04,8
, o W48

{0,2,4}
3. %

{0,2,6}

4. %

Question Number : 101 Question Id : 26449017920 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

y

. fe BBV
lim l+—i is equal to
el p
. : 1 i S s
lim I+— 1 QRS Rarageb -
n—% | i
Options :
.
1. =
2. % %
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Question Number : 102 Question Id : 26449017921 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s false
& 800 TEHS® DS wd&Ew
Options :
Every group of order 4 is abelian

45 S808 fio 1$8 JISrstsn HH0aHS

1. %
Every group of order 5 is abelian
, 5P 8818 rio (H8 1S SEHOHS
2.
Every group of order 6 is abelian
| o 63 36158 o (H8 BB 500055
Every group of order 11 is abelian
L 118 85018 rfo ($8 Sariran o306 SHOHS
4.
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Question Number : 103 Question Id : 26449017922 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Any non-empty subset of real numbers which is bounded below has

Qi 283D @
o —

TR Sogre g ErUES o $us (Bod TB8E° T 50N wotol

Options :

infimum
o

L@ Brd o) od) el

both infimum and supremum

e BN 0O WD Bolr

2.
supremum
3. %
neither infimum nor supremum
TR Tor DB =t
4. %

Question Number : 104 Question Id : 26449017923 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of units in the ring Zi4 1s
Z14 5000506 ey Soy
Options :

1. ® 1
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2.v O
3% 10
g% 12

Question Number : 105 Question Id : 26449017924 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

b i
> | = | is convergent if
=
.' l \ 2 -
Zi — | 630 ©hBw Bowrwod
H
Options :
L% P<l
” o F e |
3 x D=1
. n P

Question Number : 106 Question Id : 26449017925 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following is Integral Domain
& (8ol 0S° 20 Frros [BaEEw
Options :

0 A
5 % Moa(Z)

Z11
3.%

L1
4. %

Question Number : 107 Question Id : 26449017926 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

, [ x O0<x<l
If f(x)=
'\-\.3 3

Options :

lim f(%) =1

11'11} =2
2. 23 X—sl

73/103



7/14/22, 4:27 PM

]J_'11[1 F)y=2

3. %

both (a) & (b)

Question Number : 108 Question Id : 26449017927 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a polynomial ring z,[x], (1 +x)* =

DTURHe Seciho [x], (1+x)? =

Options :

X+32+33

1+x2+x3

1#x#xS
3.8

1+x+x2+33
4, w

Question Number : 109 Question Id : 26449017928 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the ring of integers (Z, +, -) which of the following is a maximal i1deal
(Z, +, -) £PBE Sochod® & ob TES° DO M0 LYy ool

Options :
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1= 10

127

Question Number : 110 Question Id : 26449017929 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Iffand g are continuous on [a.b] and have equal finite derivatives in [a.D] then f-g s

&,

f 0w gew [a.b] 2 ©dYFore ol [a.b] &° ISFS BOWE v THED EOA o

fg o0

Options :
constant

Lv ¢
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o
4. %

Question Number : 111 Question Id : 26449017930 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of proper ideals of a field F is
Ssn F 6°0 &g odone Sogy

Options :

Infinite

4 % ©RVOB

Question Number : 112 Question Id : 26449017931 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The function for which Rolle’s theorem is trueis
&) drpodin & BolzdS® T8 Dudydol

Options :
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f(x)=logx in the interval | %.2 |
= £ < _1
f(x)=logx doPan0L” lEE}
1. -
() =|x+ =2
J &) |x 1| in the interval [ ]

. f@) =|x+1 T [-2.2]

J®) =|I| in the interval [_1‘1]

F &) =] Doesos® [-11]

3.
J&)= |'T _1| in the interval [_3' 3]
L F@=lx-1| o o - [-2.2]

Question Number : 113 Question Id : 26449017932 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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If f be a bounded function defined on [a.b] and B, P, be two partitions of [a.b] such that
B, is refinement of F then
[a.b] B R TosndS o BouGEIocbin f ©ond, HO B, Ben [a.b] Goo%) Bo

Dfuden wow P, o3& R &aoé; D88 @o:a:rﬂé;:ci:

=

Options :

L(B.f)=L(B.f)

1. &

L(P.f)2U(B.f)
2.

U(R.f)zU(R.f)
3. %

L(B.f)=L(R.f)

Question Number : 114 Question Id : 26449017933 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If fis Riemann integrable on [a.b] then

G,

[a.0] 8 f 030 E5r8 I5r500 vwow Eplat)

Options :

78/103



7/14/22, 4:27 PM

¥

g

[ reax| < [|reofas
1. J ol a

If (x)dx| = Hf {}c:}|dx
2. % &a a

I.f{K]dX‘ = j|f{x}|dr
3. % ’ ’

: ;

| fx)dx| > | |f ()l
4, % ’ ’

Question Number : 115 Question Id : 26449017934 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of associates of (2-1) in the ring of Gaussian integers is

MPRACHT P88 Socham (2-1) %9 $;S8 Sodire Qogy

Options :
1. ® O
2. % 2
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3.¢ 4

Question Number : 116 Question Id : 26449017935 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If ¢(x,v,z) = 3x%2y — y3z? then grad ¢ at the point (1,-2,-1) is

d(x,v,z) = 3x%y — 322 ©ond (1,-2,-1) Sronots 3¢ grad ¢ 6

Options :

— 12— —18
v ( )
, x (12,9,16)

s x (12,-6,9)

. x (269

Question Number : 117 Question Id : 26449017936 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

f# = xT+ V] + zk then div 7 is

fFf = xT+ v + zk ©on8 div T o308

Options :
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1.

Question Number : 118 Question Id : 26449017937 Display Question Number : Yes Is Question Mandatory : No Calculator : None

\;‘4.-"

3

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The directional derivative of f = xy+vz+zx in the direction of the vector 1+2j+2k at
the point (1,2,0) is

(1,2,0) Sothyy X3¢ f = xytyztzx Qg Lo°

Options :
10
1.v 3
11
2. % 3
3 % 12
14
4,

&5 oRsodaw i+2j+2k (0 Joad
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Question Number : 119 Question Id : 26449017938 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

fV = x?yT — 2zx] + 2yzk then curl Vis
V=x2yT—2zx"4 2yz ©ond curl V o3d
Options :

(x+ 21— (z+x2)]

1. %

(x+ 2T+ (z+x5)]

;o (2x+ 22)T— (2z + xk

(2x+2z2)1+ 2z + I?}E
4. %

Question Number : 120 Question Id : 26449017939 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A vector F is called irrotational if
36 F ©I0 28585 S wond @b
Options :

divF =0

o x CcurlF=1
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Question Number : 121 Question Id : 26449017940 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If F= 3x2i + (2xz — y)j + zk along the straight line ‘¢’ from (0,0,0) to (2,1,3) then
JF.dris

F=3x%1 + (2xz — y)j + zk w8 et BoH SSrsessw [ F.dr = =51

©R& (0,0,0) 208 (2,1,3) 355 o8 S50
Options :
& 10

2. % -12

14

16
4. &

Question Number : 122 Question Id : 26449017941 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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If S is the surface of the cylinder x* + y? = 16 then the unit normal vector to the surface #i is

S @30 20U AwE) avddee x? + y? = 16 o8, altdvo A & crld Ferde Ipd
Options :

% 2x1 — 2y]

2.¢

3. %

b
H
-.1|-«:

Question Number : 123 Question Id : 26449017942 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gauss divergence theorem connects
e o3d8s 2 Repodo HED BeoHsoh?
Options :

Line integral and Surface integral

% Do JaErsed Hicn IS0 ddrsed
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Surface integral and Volume integral

SESODH dIrEe Do PIBOIrn e

2. ¢
Line integral and Volume integral

\ O $5r5ed 500 HINdsrn darsed
all the above
2D o

4, % =3

Question Number : 124 Question Id : 26449017943 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If 'C’ curve x% + y% = 1 z=v? and F = yzi+zxj+xvk then J;F. dr is
F = yzi+zxj+xyk ©@ond o5pH x*+y? =1 z=y? od JBS» ‘C Dood j’fF. dr
Options :

0
1.¥
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Question Number : 125 Question Id : 26449017944 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of ﬁc y(2xy — 1)dx + x(2xy + 1)dy where cis the circle x* + y% = 11is

C ©30 Fgo x? +y2 =1 0w, § y(2xy —Ddx +x(2xy + Ddy D0 Jo0s?

Options :
L® T
ok
2.% 2
o
3 % 3
4 2

Question Number : 126 Question Id : 26449017945 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The series Y -, P is converges if

n{logx)
- 1 =
..-."‘Eﬁ m_ A e n'fx.:l
=) Zn_ln[logx} LRCR I
Options :
P>1
1. v
- P<1
2. %
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P=1

3. %

4,

Question Number : 127 Question Id : 26449017946 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Zy, is anintegral domain if and only if n is

Z. b &8 pieslels DB ©ond, o n O30 -

Options :
cyclic

L% N (=TeVoEveY
identity

5w QG RHSBeasn
prime

3 (Serasin
zero divisor

Question Number : 128 Question Id : 26449017947 Display Question Number : Yes Is Question Mandatory : No Calculator : None

87/103



7/14/22, 4:27 PM
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The series Yo, (Vn+1-n)is
®© . GMm+1-n) &3 33
Options :

Convergence

s e

Divergence

LR Tetan!
2.9

Conditioned

Qohd oddse

Absolute convergence

Slekey el wf)Hse

Question Number : 129 Question Id : 26449017948 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The characteristics of the ring (Z,,5,(2)) is
J0000 (Z,5,0) ) erglsan
Options :

1.v B

88/103



7/14/22, 4:27 PM

3
2. %

12
3. %
4. % &

Question Number : 130 Question Id : 26449017949 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Principal ideal (3) isa
S etgo (3) ©R0 -
Options :

prime ideal of Z

L @) Der elgo

maximal ideal of Z

7 ﬁ‘c&é; ﬁb% 9:;::36%0

2.
both (a)&(b)
, o 3000 b Do

neither (a) nor (b)
4 % 4 b e Dolr =@
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Question Number : 131 Question Id : 26449017950 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Any finite cyclic group of order n is isomorphic to
s88 n rfo HOWS HSah SERo TV HeBrSorr wotnod
Options :

v @@
(Zn©)

(Z,+)

3. %

4. % (Zr':-'

Question Number : 132 Question Id : 26449017951 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If S1=v/2 and Snt1= V2 S1 ¥ neN then the sequence {Sn} convergence to

S1=12Z £BCHM Sn+1= V2 S1 VnEN ©cnB o5pl ©HEH0 (Sn} H ©H30%00

Options :
1. Z

V2

2. %
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3. % -2

tﬂl |-I-

Question Number : 133 Question Id : 26449017952 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following statement is not correct?

Bod BELNE® D8 $BE VTR0l 5°K?
Options :

any ideal of R is a subring of R

R &%) QBT 880 R Eof) eddecho

a subring of R is an ideal of R

R G5 esddedho R Gns) edy)o
2.¢ )

the union of two subrings of a ring need not be a subring

3 % &of nﬁwé_; Bodh aelddudre Svond aelddecho ES8se B

the intersection of two subrings of R is a subring of R

L% R &8 Dol sddedire pols R @nE) 63000
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Question Number : 134 Question Id : 26449017953 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

fand g be real valued functions that are continuous at xoin R then
feoloin gen RS Surey; EFEHahan S0 f g oo xo S8 0IYTED vond FH
Options :
f+g is continuous at xo

(f+g ©T0 X0 (G LRI

1. ®
fg is continuous at xo
fo &0 xo S8 QR0
2. % - EE
f : :
— continuous xo
3. %
All the above
25
4.

Question Number : 135 Question Id : 26449017954 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If {0} is a zero subspace of inner product space V then {0}~ is equal to
(0} O30 VosSLon VoSTESY V DwE) P GIroSTEID wond {0)- & a0 Js=Fo.

Options :
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{0}

1. ®

v}

2.

@

}Tf

Question Number : 136 Question Id : 26449017955 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f(x) = [x|+[x-1|+]x-2] then which of the following is true
f(x) = Ix]+]x-1]+]x-2| 9008 opdH & Bob TES Do S
Options :
f is continuous at x=1,2,3

x=1,23 038 f 0w

1. ¢ —

fis continuous and derivable atx=1,2,3

x=123 03¢ f odYP0 DO ©FZ0VEHE0
2. % N

fis continuous at x= 1,2 and derivable at 1,2,3

x=12 038 f oJYPJE0 DO x=1,2,3 3¢ w580 ohS»
3. % -
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All the above

= e
adoond
[ S Gkr

4. %

Question Number : 137 Question Id : 26449017956 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let T:F — W be a linear transformation. Then T is a non-singular if
T:V > Wes 8¢ D058 200l oftd, T oIl oFTonskn ool
Options :
Tis1-1

L T @30 1-1

I is onto

I
ol

&

T
2. %

Tis1-1 & onto

3 % T @6 1-1 508050 08

KerT # {0}
4. %

Question Number : 138 Question Id : 26449017957 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The value of C in Cauchy's Mean value theorem for f(x) = e”*, g(x) = e " in [a,b] is
f(x) = e%, g(x) = e™* 0D 5% DgEn Horey depossn Troe C Dend
’ =

Options :

1. % E

B | o

a+b
3. 2

L% Vab

Question Number : 139 Question Id : 26449017958 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

[3 -4 4
The sum of the eigen values of the matrix |1 -2 4 |is
(1 -1 3
3 -4 4
@S |1 -2 4| CE) eiic desdie TwEo
1 -1 3]
Options :
1. v 1
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3
2. %

8
3. %

2
4. %

Question Number : 140 Question Id : 26449017959 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If A is a square matrix then A-—A" is
A SE5H SP8S vond 4- 4" ©o30
Options :
Symmetric matrix

SRR

1. %
Skew Symmetric matrix
e e =
7 v M1:T& N&a@g é::'.lf.'i‘-.a
Hermitian matrix
TS Sr@S
3 & I
Skew Hermitian matrix
B o TEOACHE &S
4. % oo &
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Question Number : 141 Question Id : 26449017960 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

F 1 2 \
The inverse of the matrix A= w 1 is
"
A=\ _ i i ToE) D700 IrE(EE
|3 ] =
Options :
1/—1 2
E( 3 —1)
1. ¢
1|-"—1 2
= 1
5 ® 5(—3 1]
11 -2 ‘
503 —1]
3, % '
1/-1 -2 |
54 3 1
4. %

Question Number : 142 Question Id : 26449017961 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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1 2 3
Rank of the matrix |3 4 5|is
4 5 6
1 B2 3
3 4 5|5r@s awg) 578
4 5 6
Options :
v 2
2. ® 3
3. % -
4% 0

Question Number : 143 Question Id : 26449017962 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The nullity of the linear transformation T:V — V defined by T(v) = vforallve Vis
o) veV 5% T(w)=v o SN H0UAR O8RS B0IBS T:V — V Qg Sreasdtain
Options :

1. & 1
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4% 3

Question Number : 144 Question Id : 26449017963 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A linear transformation T: V — Fiscalled a
a5 8HrS HOPBD T:V = F D ser wotrd.
Options :
trivial linear transformation

BDcHT LEFFE HOSE

1. ® -
identity linear transformation
, % 08088 5SS HOSGS

natural linear transformation

i

s , ot 3
. Jem DELRS HODES

linear functional

| o DSEPE @Hokns

Question Number : 145 Question Id : 26449017964 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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If U= {(1,2,1), (0,1,2)}, W={(1,0,0), (0,1,0)} then dim (U4+W) =
U= {(1,2,1), (0,1,2)}, W={(1,0,0), (0,1,0)} ©@00& dim (U+W) =
Options :

& O

Question Number : 146 Question Id : 26449017965 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

InV;(R), A={(a,b,0)/a,b € R}and B = {(0,0,c)/c € R} are subspace of Vthen A N B=
Va(R) € A = {(a,b,0)/a,b € R} &»8c3» B ={(0,0,¢)/c €ER} &0

V Qs SIROSTRTReD ©ONIGP AN B=
Options :

{(a,b,c)/a,b,c € R}
1. %

, ¢ 0}

- {(a,0,c)/a,c € R}
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{(a,b,0)/a,b € R}
4, %

Question Number : 147 Question Id : 26449017966 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a 3x8 matrix A has rank 3 then dim Nul A =
3x8 S5 e SP(@5 @) 5°8 3 vowE ©¥ P dim Nul A =
Options :

1. % 4

Question Number : 148 Question Id : 26449017967 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

IfS = £(1,0,00(2,0,0)(3,0,0)} then L(S) in V3 (R) is

S ={(1,0,00(2,0,0)(3,0,0)} ®ow8, V3(R) & L(S) ©3& -
Options :

| % {(0,x,0)/x ER}

{(x,0,0)/x € R}
2.¢
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s« {(x0,0)/x,y R}

{(x,y.2)/x,y,z ER}
4, %

Question Number : 149 Question Id : 26449017968 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The only vector orthogonal to every vector in Vis
V 650 (58 2655 von SRchorr Hok s ol 80

S

Options :

Question Number : 150 Question Id : 26449017969 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If W is a subspace of R* given by W={(a, b, ¢, d) / b-2¢+d=0}, then dim W=
R*QE; &.5 ol wodoegew W={(a,b, ¢, d) / b-2c+d=0}rr oNR ©Jut dim W=

Options :
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1. % 2
2 3
3. 4
4% 1
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